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a. Describe the motion of the car during each of the two parts of its motion.
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b. Construct a dot diagram for the car's motion.
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c. Determine the acceleration of the car during each of the two parts of its motion.
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d. Determine the displacement of the car during each of the two parts of its motion.
0-5s 5-15s

A ‘bh A-bh
55)(zom3> A =(105)(20 mS)

- (Ss,20mis) (15 =, 20 m/is)
200
11- 0 m DO m E
> 1000 m \DO \
5.00 60 i
CI.DL: 1= T T T T T T T T r 1
0 |_u| 4 | 1] S.00 |DS 1z.0 16.0

t (s)

Time (s) | Pos'n (m)

0 0 2+‘50m
= gg 2 +100m
15 | 250 21‘[000)




(Ss,20mis) (15 =,20rm/is)
20.0 .
Pl i
w150 s .
L . ' N
= g I 1
LS00 : i
> s : !
5.00 4" ' !
17 : ;
U-DU l‘ ¥ T ¥ T T T T ¥ T L T ¥ 1
0.00 4.00 .00 120 16.0
i 0

240
200

10

r'-'-
- ——
= 1z0
(=

)

40.0

l:l_l:":l|r1t'r T L |
o0 =.00 10.0 15.0




